A8 -8z 2022/10/2 EH&
a2 BEWPEHA
sre EA PHEABMELHRBIEELERIVTA RREMF
FEEAKE HETPERAEER 232
B #8 1 i 214 3fi 44 54 61i T4 81
#8873 | 10828 | 200m HEH BE 24.24 (-1.7)|#RK BE 24.44 (-1.7)| B3 EE 24.62 (-1.7)|%m #WE 24.91 (-1.7) |8 B 25.35 (- 1.7) |l #K&% 25.37 (-1.7) | A BEE 25.41 (-1.7) |[#A BA 26.02 (-1.7)
Ell| Frity AAR wi AR RARI RAR RAR
oR18| 400m R B 56.22 /& BEE 56.83 |#A WA 59.55 |2 %% 1:00.23 | %0k fH 1:01.06 | &) EZ= 1:01.47| KB ®K 1:01.70 | ZEH# K& 1:06.12
IHS AAR IHB AARE AAR AiE Fait IHSE
loR28| s00m HE &5 2:15.34 | HER BAR 2:16.10 |4 MWK 2:19.27|WF & 2:20.01 | H@ #®E 2:23.70 | F8H %t 2:23.81 B EH 2:25.12
RlE Frity AARE 25 RIER 25 AE
tom28 | 11omH E5 KE 16.36 (-1.0)|@ &A 18.05 (-1.0) | &k 2 18.40 (-1.0) (B4 A#t 18.46 (-1.0) [#Es KBk 18.59 (-1.0) [%&# B3 19.02 (-1.0) | 435 ¢ 19.10 (-1.0) [fE@ X 19.12 (-1.0)
ity —R Kith Kitk 25 RARI RIER =R
| 47.54 | KRR 47.66 | KARIL 47.78 (8% 48.92i1# 8 49.92|=R 50.54 |ffEk 50.62 | Kii 51.20
MR Hits [k ] W K 1RV NE Hmt (4:: I PN B A Bi5 Mk
I0A2H |4x100mR(#287 BE A% Bt "B WAL BE BX 1w X B &A Al BB %
TH M MR OBEE ) BEZE (LN B it wh K& we ¥ FE K=
¥|m RE BRI EIiE N33 KiE BRiR FR B BE mE L ) B Kt
L ik 1.75(km K& 1.68 |/ % IB% 1.65 | @ AR 1.55 | = 1.55 84K $ 1.30 Rk it 1.30
og2a| s Fxits Frit =R Faith KAfRIE RalE IHE
Bi% Mk 1.30 EA & 1.30
Kith RlE
loR 1B | e KiE RiR 5.55 (+0.7) | 4 5.33 (+0.7) %8 B 5.20 (+0.8) | A #LE 5.18 (+0.9) |Lim 3$fo 5.14 (-0.3) [k B% 5.07 (+1.4) | &4t 18 5.02 (-0.5) (A &A 4.87 (-1.1)
9E it AARL it AARL =3 ) 5 =R
l0B28 | =& A HRE 11.85 (+0.9) |48 % 11.67 (+1.1)| WA 3k 11.26 (+0.7)| Ltk 68 1103 (+1.7)| &M $$K 10.96 (+1.0) |B4ER AR 10.76 (0.0) |asd E3k 10.66 (+1.2) |AHE HhiS 10.13 (+1.3)
it RIER AARL RIER 0E RIER L:F it
ropza| wmam +@ Bm q.27| WM #FHk q.11 (@ Sk 8.70 |41 FE—8A 7.89 (i@ X 6.99 (K& Ht 6.81 (k@ X& 6.78 |¥HE {£HE 6.62
| AARL IHB Kith =R AdE =R it
ontal mes +m@ B 25.10|L% E8K 23.50| K& H} 23.46|HHE HE 21.81 | XK@ £#l—8 20.82 |0 o 20.33 |4tk BEX 20.15|%@ Sk 20.09
£l RIER AiE AARL it RABRIL Kith IHE
(0B 18 | mmsms K@ SHE 2002 i K¥*k 1558 | &M 2 1469 |%# B3 1392 ||t At 1362 | @ KA 1342 (B 33 1294 |8 8% #X 1199
it 25 Kk AR Kisk Frih =R it
10A1B| 110mH 16.94 (-0.4) 18.12 (-0.4) 18.32 (-0.4) 18.77 (-0.4) 18.61 (-0.4) 19.48 (-1.6) 19.96 (-1.6) 20.56 (-1.6)
1018 | ®hiz 8.27 8.28 6.73 7.57 7.25 6.28 7.07 6.37
10R1B| &3k 1.74 1.40 1.45 1.25 1.35 1.59 1.35 1.50
10A1B| 400m 1:00.04 1:02.08 1:02.51 1:00.99 1:03.90 1:06.12 1:01.98 1:05.92
2H BE 11.98 (-1.4) | R EiE 12.18 (-1.4) [#a% RE 12.21 (-1.4) |[#£5 S8 12.29 (- 1.4) | %@ HE 12,31 (- 1.4) |l #& 12.40 (-1.4) (BB Bx 12.47 (-1.4) | =% EE 12.53 (-1.4)
24%4%8F [ I0A1B| 100m
£l RAR it Fait ® RABRIL 0E 25
0818/ 1500m RE BE 4:34.90 | R BEAHR 4:41.25 |H@E F&H 4:41.67|WTF #F 4:48.01 |BLE X 4:49.31 |BAR 388 4:49.44 BH EE 4:52.21 |@Ax &3} 4:52.58
=R it Aafx g5 SIHS RAR 25 =R
10828 | 3000m RE EE 9:52.87 |BA% 3EA 10:18.12|BE# B 10:41.87 1@\ f&& 10:45.81 | %% Kfgfa 10:47.65 |@% RBA 11:01.74 @ X% 11:05.58 (8§ +33 11:18.66
=R AAR k-3 Frit AR it IHSE RIER
287 | 10818| 100m B g 12.58 (-2.2) |\ #Hith 12.75 (-2.2) | A% B$ 12.79 (-2.2) | #%H# &K 12.82 (-2.2) | ke &6 12.89 (-2.2) |dbN E¥E 12.92 (-2.2)|#L 8 13.00 (-2.2) (TR #tiK 13.21 (-2.2)
=R 3| ARR Frit RIER RE RIER Frit
og18| 1500m FEH Xt 4:52.05 |[#aA R 4:53.49 |Hte BRE 4:56.16 | %M &% 5:00.28 (#EHt fok A 5:02.01 [Zif 2% 5:09.16 [#3# 1 5:11.08|AA RE 5:16.37
-3 AARE g5 AARIL g5 IHSB =R Kitk




A8 - 8% 2022/10/2 EH&
firt-2 AT PEHA
isre EA PHEABMELHRBIEELERIVTA RREMF
FEEAKE HETPERAEES 232
B #8 1 i 214 3fi 44 54 61i T4 81
#@m%F | 10828 ]| 200m Pk W% 26.79 (-1.2)|[N# kA 27.44 (-1.2)|&4E #HA 28.16 (-1.2) a1 &1t 28.84 (-1.2) | EHt @ 29.03 (-1.2)| L@ FF 29.26 (-1.2) |08 #E 29.90 (-1.2)|BR 223 30.45 (-1.2)
RAf& KAk KAk =R RAfRIE =R g5 =R
loa1a| 1500m G2 4:51.23 |Fit —% 4:57.22 | 8K LR 5:02.80 [kEH &1t 5:06.70 & R4 5:07.47 R FE 5:10.06 | K% #%& 5:15.74 | T4 #% 5:19.89
KAk Ell] Kk Kik RAfRIE KARIL KARIL KAf%
10oa28 | 100mH PR B&% 16.35 (= 1.4) [n# s 16.65 (-1.4) [REF HE 18.19 (-1.4) |tk MG 18.21 (-1.4) | &N HE 18.58 (-1.4)|F@ bHhi 18.67 (-1.4) | K#8 BE 18.71 (-1.4)|5iTh %8 18.87 (-1.4)
A% Fait Fait KAk g5 KA% =R g5
RAR 51.58|=R 53.52 | KX {RiL 53.90 |F=it 54.17 |48 55.97 |AfE 56.21 |RER 56.54 |ZiE 57.33
JLIE: 8] | EF HE KRR NEF s e BE wAR s [iN=0%:L H KR
I0A2H |4x100mR| %K% £k GR BR 223 BN HE B R Bk @it Wi B B KA % FE
Bi% A kO &N L v BEK BX Bk A& BR KR wig R & HE
1Pk W% B Bt Bl tig 1ERR #%IE PR B3 &l HF H BF BE EE
lopza | =mm ok FE 1.51 WO H#E 1.48|Jtm E% 1.40 | FH &5 1.35| &% wE 1.30| 28 5 1.30| @ ©F 1.25|@%$ HE 1.25
25 RAER KAk & el KARIL KARIL AaE
loR 1B | e sl tiE w5.04 (+4.5) |FIRE @ wh.72 (+2.1) [ Y& 4.62 (+1.5) @B ~F 4.34 (+1.3) |11 &= 4.30 (+1.9) |1t@E HF 4.25 (+0.5) (5@ BE 4.18 (+1.3) | &% AA%E 4.05 (+1.9)
KAk A% KRR KRR Kik RalE KA Aalx
l0R28 | masm Bk BF q9.79 |#E BER 7.80 (R BT 7.57 W@ BF 7.44|8H V714% 7.30 | R4t Kok 7.01 |[{R%& ek 6.97 |B&H# HT 6.91
0E Faith g KAfRIL =3 Kidk g5 IHE
oR 18| mmE #H HE 20.05|#f@ HHF 19.79 |#@ &% 18.80|WTF #fn 18.47 | {R#R ok 18.39 | #i Hh% 17.56 (3t #tn 15.54 (T #i& 15.48
25 KAk Aalx KAfRIL g5 it IHE Kisk
loR 18 | mEsms % FE 2123 NH #s 2050 (B# V74¥ 1495 | £ ®F 1322|514 £ 1263 |#K WHE 1227 (4@ EE 1155(&%8 #iF 1140
%5 Fit =3 25 25 Frit KARIL KAz
10A1B| 100mH 16.60 (- 1.4) 16.88 (- 1.4) 19.69 (-1.4) 19.49 (-1.4) 18.75 (- 1.4) 20.59 (-0.4) 21.16 (-0.4) 19.45 (-0.4)
10A1B| &3 1.53 1.47 1.30 1.20 1.20 1.25 .44 1.15
1018 | ®ahig 8.18 7.34 7.67 7.73 5.36 5.70 5.72 5.11
1I0AIB| 200m 30.99 (-2.3) 29.82 (-2.3) 31.54 (-2.3) 33.21 (-2.3) 32.77 (-1.4) 31.85 (-1.4) 36.35 (-2.3) 32.70 (-1.4)
25547 |10m18| 100m 1PEE W% 12.88 (-0.8) |8 i 13.36 (-0.8) | N# %8 13.56 (-0.8) [ &#& '3 13.69 (-0.8) 31 &1t 13.86 (-0.8) [ B4+ #E 14.06 (-0.8) |B ¥<%E 14.23 (-0.8) | k4% BE 14.51 (-0.8)
RA& KAk KRR KAR =R KARIL E3ll] =R
0A28 | s0om K ¥R 2:21. 14| 8B —% 2:22.84 | £k it 2:31.45| K% MF 2:31.47 |4 #F 2:32.65 |ifdk Hig 2:33.74 | FH g 2:36.40 2K 7% 2:38.82
RKAf&R & Hrit RAfRIL KAfRIL Frits KA%R AER
KT RE 13.95 (-1.9)|ER 22 14.00 (-1.9) |@E %% 14.01 (-1.9)| L@ % 14.21 (-1.9) |8 BE 14.24 (-1.9) [k &3 14.45 (-1.9) [hiE#g % 14.59 (-1.9) (&g g% 14.66 (-1.9)
1E4£4F [ 10R1B]| 100m
Feit =R A =R g5 =R KARIL IHS
10828 | s00m a1 TER 2:28.21 [%@A &1t 2:30.00(E R4 2:30.59 | && AF 2:31.13 %L ER 2:32.94 &K #R 2:36.06 [#2@ @i 2:38.73|B%s ¥E 2:43.21
Kk Kk KAk Fait AA kI 25 & =N
w (wind assist) : EEEA&#
FHER 1 i 24 3fi 44 5{i 61i T4L 8{iL
BFRe Heit | 145 | KARIL 82& | &N 565 |=R 565 | KAF 544 |2iE 534 |RIER 3TE|IHE 35.54
RFHRE RARIL 91 E| KRR 865 |Eig 60% | Hxit 605 |=R 485 | Kk 345 | 285 |8% 275
Bue Heit 1745 | KRR 1735 | KRR 1404 (Eig 113&[=R 1045 | &N 845 | Kik 66.55 |Afx 545
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